Terry Chew
Nguyén Thu Trang dich

04 10-12 tubdi




Danh thuc tai nang

Unleash The Maths (

04 10-12 tupi




-

The Four Operations

Svla Ry o oo pisma miom i m e didi mo ma e sebtrac mon nent and seEnpde Wil be ol menes
i e opeming daprer of fhes book

Thage bt cde pldp tied ofeg, tnddom gids, sgin gon M cbe & cw chuong mo
Eia iy

i Addinon md Sebancion
lmpasr f it st !

a+b=h+a

at+fh-ei=ma+h-«

g=fh+ej=ma-h-«

g=ib=ej=m=h+e

A ) Phdp cdeg vd Pldp od
Nhirng ghi whéd quan ireng:
I. a+h~h+a 1.
a+fh-2jma+h-e .
g=jh+e}jma-h-=¢ 3.
g=ib-e}j=a~h+e 4

(B} Mukiphcaton asd Diiv mion
Impariant nedes:

(B} Phip sbdin v Phdp chia
Nhirng ghi ohé quan trgng:

arfh+elmacbh+axe
axfh-gjmarh-are
ta+hi+~emare+h+e
a-bj-e=a+e-h+e
g~hxe~axe+h

g+h+e=a+ibh =e)

Drida quan ey kdag kém U & cong che nid che 53 md s cu cheeng I
000 b 10000

& r 115 = | e
4 = 2% = | i

arxfh+elmaxh+are
arfh-ejmarh-arg
fa+hj~ema~e+h~e
& -b}j~e=ma~+e-h+e
a+bhxemaxe+h

a+h+e=a+ib =}

I ako Enporant wo koow & mmakiplicat ca of seb ars the will gve voa
um apewer of 100 o 1000

= 115 = | ieh
4 = I8 = i




A} Phip cdag v Phdp eddim
1 Thac bide che pldp tnb s

)

by + TE - diby
=Edh - g+ TE
= gD+ TR
~HTE

2L + 136+ b+ 413
“apa

= [ 000 + 4

= 1 4

TR + 1352
=T00+ £+ 1352
= Ti0 4+ 1400
=1l

Thge bidm che pllp ok saa

il

AT (156 4+ 32T)

=200 - 154
=14

O - (033 4 ok

ot

=300 - 132
= 18K

S33 - (33 - 129
=433 -3+ 189
=400+ 159
BT

e
AES 4 ITE 4+ 1344 T
=40+ 0
= | Sl

i
TIX+ &4 + 46 — 132
"-\.Im.-"'
=ihid + 100

=Tl

19 4 195 + 1999

=40 0+ 400 - 1+ 4 - 1

=444 - 3
= 4437

84 . (JER - 134

e
= -3EE+ 132
=100 .- 1%E

=351k

Ti2. 0%+ 332)

W gy §

=400 - IR&
=114

04 234+ 123)
=43 K4 - 123
=3@0- 123
=177

(A} Addimon and Subdmenos
i o e e ol bomimgg

() %48 +TE- 46

= R - 4+ TR
= E00 + T&
= &74

458+ 136 + hed + 518

= Too+ %+ 1152
= TG4 1400
= Zidd

Lo pase the 1o llowning.
(m} AT (086 4+ 32T)

-,

= M0 154
= 14

9 (132 4+ 994}
300
.r"r.‘_
qm_m_:;&.
- 300 132
-

633 - (233 - 189}
=633 - 13+ 18
- 4004 159

- &9

P i
38 + 2T 138 4+ T4
qﬂ""l-j]..]..—l'"'rr
= g+ 500
= 1S

b
TIZ 4844 16132
"'Iﬂ:l"l
= 600+ 100

= o

39 4+ 399 4 3505

= - 0 0 - § 4000 -

= 4 - 3
= 4437

244 38X < 134)

B gt

= T - 15X
=312

TIX - (304 + 33T}

gy )

= 40— TRk
= 114

134 (24 + 1)
=440
=300 1
=177




Thigc bide phedp i ink 5ma:

09+ OT +96- 984 +E-TH+HE-A4d 3431
L |
= 5

Thwae bidn phidp ok s

B9+ 0199+ 1999 + 19999

bl o I RS T B [ e IO R e v |
e e, s

e [

Fiadp nkdm v Phdp chia

D chch dom giam & dvge Bide phdp ek saa:
) 8= 399 (b} 23% 16= 128

i ommpome @ Toll oimg -

I00-99+ 8 -+ 084 X THh-S+4-3+3-
=30x]
= &

i conpaa e ghe Todl cvanmg:

19+ 199+ 19599 + 19 999

=M ]+ 000 +2000- 1430000 -1
e e B |

=3Ik

Ao i a o e D o m
Use o senple mobod 1o compane de followmg .
fa) &4 = 199 )} M= j&x24

= & = (400 - 1}
ERUE TS L |
= X6 000 - Gt

= 159318

198 =164
e B

= W0 e Jh -3 3h
= Thi0 - Tk

= TI1%

i =99
Sl o T
= &0 00 - S0

= 5 40l

=M elcEx |18
= A % [
- S e

i 3w IM 2313

=M ed xEx M8

= 00« jid = 33
= 3 S el

Ta o x 3R
=M o e Ex I3
=M 4 = 3= 10
= Q00 = 3= Q00
= 3w 100 00

= 3 ulsp

= &4 w40 - [}
R (T L S
= 2 0 - B

= 18 918

198 = %

= {00 - 3= 3
e e T R P
= Tiio - T2

= TI1%

SO0 =

= 00 w100 - 1}
= &0 D00 SO0
= B il

mMerlrie 128
= 4G = 100D
B 1

Heike 123=33

B R S P

= Q0 = i = 34
= 3 S B

L T
=My I Ex M
=M d o« = J000
= M = 3= Q0
= 1w (00000

= 30 S

Dy choh dom gidn & e bide phdp teh sau:
W) TeEE43Te02 b} 5= 104 15~ 14

Usze o simple ook 1o comnpaane de Tolloweg
(o} 3T =EX + 3T = 12X h} Exild-1E=04

= AT = (&K + 13}
= AT = 1@
= 3T

= 1 e (104 = 14}
= IE = 100
= 18

= 1T = (&K + 13}
= 3T = 100
= 3Tl

= 1% = (114 - 14}
= 1& = 100
= |




f#) 42 =Ti4g4i=14
=43 x T4 434
= 42 = 100
= 420d

[ T S e e
= 33 % [ 136~ 2}
=11 = 100
= 330

Thimg chichs ovm kim0 d thvac bidn pledp tlsh s

(m} 203 =&}
=20 +4 <k
=4k -+
=7

4000+ 124+ &
= 4000+ (124 & &}
= 4000+ 1000
=4

) TdE< (1T = 11}
=T+ 11+ 17
=K - 1T
=4

Wl 3= 098 ~10+7
= MO+ O x5 47
= lE= K
= B4

Thimg chch dom giin dd thic bidn phip tloh s

fa) 313 = XX G
=313 w2 = D10 - b
el Y
=111

454444 440~ G- &
=404 A0+ @ =)
= 444 445440+ 44

= 10 181 918

fh}  dddd =220 EEER
=dddd = T 101 = EEEE
o O e 000 R
= 1111

AR GG e GRR
oS w1+ )
= e w1000

-

fef 4= Th4+4F 28
=43 = [T4 4 34
= 47 = J00
= 42did

Wi 33 = 136 - 33 =1
= 33 = (136 - Jaj
= 31w 100
= 330

Usze o sinple mnotbed 1o compaate @ Tollommg

fa} 200+ 3 =&)
=210+ 4 + 4
=41+
=7

4000+ 118 + ¥

= 4000+ (124 = K
= QG [0
=4

i} TdE - (1T = 10}
= 4%+ 11+ 1T
= &K - IT
i |

e 19K +10+T
=198+ Il =45 -7
= JExE

= 144

Use o smmple oo b 1o compease e followmg

{aj 333 = FRD - &
=333 =X = J10 + &
= Gk e J 11+ &S
= 111

di4 444 J30+9+ 4
=i 343 JA0+ (% =)
= 434 4L 430+ 43

= 1l 101 ol

fh]  dddd =230 - EEER
=] e X D10 = S
= e Q000 - R
= 1111

R 4 G SR
Bl B ]
= G Q00

o




LUYEN TAP 3

Thege hidm cic phdp tind smac
) A - EE A4

fe] G316 - 3T - 59+ 34T

g 1B 4 SE e+ S+ ETT

A+ 86 T4

FE AR REL I Y

A3 - T - GNE g

2436 + 36T + dldd + 432

oo e e fodlowoerg.
fa) 436+ ZE - 44

(e} 303390k 99T

lef &3éH - 36T - 99+ 36T

igl 133+ 4346 + 844 + &TT

AT+ 86 T4

I+ EE I+

2436 + 4367 + dddd + 433




Theae kidn cic phdip ik soa:
W) XN (M4 139}

e 343 - DAS) 4 143

37 (137 + 153 )+ £8

TEE - (3EE 4 Sb )+ Jdh

(b} T33_(33 +330)

()} 9434+ (372 _ 348 - 172

i TIT-(e17 - 224y

(b} 1732 (T32_MT)

i campane dhe Tollowomg,
() IIOE (308 4 139)

B4 - (243 - 138) + 143

@17 - (13T + 1§85} + £

TEE - (XEE +344) + 34h

133 - (33 + 320)

44 4+ (372 L 244y 1T

T - (40T - 1My

132 - (132 2T




Theae kidn aic phdip ik soa: i camprane dhe Todlowimg,
) 3T+ 39T 4+ 3597 + 19 997 &} 3T + 397 4+ 3597 + 19557

fh} 398 +IGGE 4+ 39 G0E 4+ I90 GuE fb} 298 + 390K 4+ 39 S5E 4+ 358 oo

) 95 B SRS S BeR (€] 9 + 99 + 9+ PG 4 5

Thaae hidn cie phdp ek 5oa: 1 e e e ol v
) (2+d+E+ -+ H06)-(1+3+5+ - + 2005 (@) (2+4+E+ - +2006) - (14 3+ 3+ - +2008)

@) EE_ET4EA- St 443421 (b} AT EE R84 - +d 321

) 100 -9E4+ S-S - 4o+ d R fe} FO0-SE 498+ +E-E44-2




Thae bdm cle phidp tinl s
da)  3A0 - 38T 434 1AL 4 e 4 200 - 29T

(b} MO08_1-3_3 _4_ - 4% _49_ 40

(e} 2RO DTE+ITI_ RER 4 -+ 200 - 196

Ihing chel dow giin dd thac bids che phip tok s

ja} W =E+EExd th] Ba00 +34

(e} 36 = 33444 ¢ 33 W} Tie @i+ 3T xid

fe} 195 = 34 i 3=dd = e wgy

i canprane dhe Tollowomg,
(&) 360387+ 384 380 4 .- 4300 - 097

(b} 2008 0 -3_3 -4 . 4% _49_ 10

fe} ZEQ - ITh+ XT2 8K+ o + M0~ 196

Use o simple mobod 1o compe e ge Tollowimg -
o) SrE+EEexd fh) Ga00 -1

(g M =33+44 33 W} Tie 2427 a0

W e 6dx 28 28 e 0




gy &= HeiMe g b} 000 38

g 120 w28k A s () 100 = 1000 - 100

Dbz ciich dom giam B dvge bide cde phedp tnk s
W) 3000 +% + 123 ih} o0+ 24+ 4

Kl 0000+ X+ Ee 2R fd] DGO+ 124 +4 +8

) 3000+ M

@) N400 -4 (b} T1o00 + 125

(4= e e P [ ghy D600+ 32

0 12820 n T d) 101 = 1001 - 101

Use a seniple mebod fo compate de Tolloweg .
() 3000+ £+ 123 fhy &000 24 -4

(e 30OE-+E+E+ 3+ 114 Wy pEm0+ M4+ 8

thi TIoGo- 134




